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SUBJECT ABILITY TEST (SAT)
Class =1V
(Bengali Version)
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8. Identify the underlined noun in the following sentence

He is the Newton of our class

a) Proper Noun b) Common Noun c¢) Collective Noun d) Abstract Noun
8. Use correct pronoun in the blank

He has a cat, he calls - Mini

a)He b)She ¢)lt d) Then
89. What is the plural form of Volcano?

a) Volcanos  b) Volcano c) Volcanoes d) Volcanois
88. What is them gender of hen?

a)drake b)buck c)gander d) rooster
8¢. ldentify the adverb in the following sentence.

‘She regularly goes to school’

a)to b)she c)goes d) regularly
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SUBJECT ABILITY TEST (SAT)
Class =1V 1x50=50
(English Version)
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8. How many hundreds are there in 733?
a)3 b)5 «¢)7 d)4
9.3/8+4/8=?
a)7/4 b)7/8 «c)4/8 d)8/7
10. Which fraction of laddu will be left it you can eat one laddu from 6 laddus.
a)1/6 b)2/6 c)1/5 d)5/6
11. What do we get from food?
a) Power b)Sound c)Light d)Air
12. Which animal can walk fast across the sand
a) Tiger b)elephant c¢)camel d)lion
13. In the primitive age, the first animal that man loved as pet was

a)Cow b)goat c)dog d)tiger



14. A thing made of terracotta
a)bag b)goggles c)utensils d)all of them
15. ‘Chhou’ dance is seen at
a) Calcutta  b) Howrah  c) Purulia d) Hooghly
16. An animal that walks on the wall
a) Lizard b) crocodile  c¢) amoeba d) tiger
17. Brick, wood, sand-these are
a) Liquid b)solids c)gases d)watery
18. That tree is seen on the hill is
a) Mango b)berry c) papaya d) pine
19. Cat will eat the way
a) Chewing b) licking  c) swallowing d) knocking
20. The dew that sleeps on the grass in winter comes from
a) Canal b)river c¢)sea d)from water vapour
21. Lice live on eating
a) Rice b)soil c¢)blood d)insects
22. Which of the following grows in moist place?
a) Banayan tree b)cactus c¢) mushroom d) all of them
23. How many states of matter are there?
a)l b)2 c¢)3 d)4types
24. Which place is safe during lightening?
a) Open ground b)undertree c)roof of the house d)inside the house
25. What is a Zebra crossing?
a) foot-path b) walking path c¢) red sports  d) definite place for crossing
26. How many squares ate there on the chess board?
a)8 b)le c)64 d)100
27. Which does not fall into exercise?
a) Running b) swimming  c¢) watching TV  d) yoga
28. The wood ‘Goal’ is associated with

a) Football b) cricket c)tennis d) chess
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29. What food should not be eaten if you have high blood pressure?
a) Rice b)vegetables c)salt d) pulses
30. With which game Kapil Dev is associated
a) Football b)cricket c¢)swimming d)tennis
31. Kitchen of the tree is
a) Leaf b) Fruit c)root d)Flower
32. The host country of 2024 Olympic Game is
a) India b) France c¢) America d) China
33. Which gas is essential for photosynthesis?
a) Oxygen b) Nitrogen  c¢) carbon-di-oxide d) hydrogen
34. How many colours are there in Rainbow?
a)5 b)6 ¢)7 d)8
35. In which state is Netaji International Airport located?
a) Bihar b) West Bengal c¢) Kerala d) Delhi
36. Tea is better produced in which district of West Bengal?
a) Darjeeling b) Calcutta c) Howrah d) Burdwan
37. The city of Kolkata is situated on the banks of a river
a) Ichhamati b) Hooghly ¢) Yamuna d) Mahananda
38. How many players are in each team during volleyball game?
a)5 b)6 «¢)7 d)8
39. What is the national tree of India?
a) Banyantree b)mangotree c)coconuttree d)jhautree
40. What is the name of the current president?
a) Pratibha Patil b) Drupadi Murmu c) Sonia Gandhi d) Mamata Banerjee
41. ldentify the underlined noun in the following sentence
He is the Newtown of our class
a) Proper Noun b) Common Noun c) Collective Noun d) Abstract Noun
42. Use correct pronoun in the blank
He has a cat, he calls - Mini

a)He b)She «¢)lt d) Them
11



43. What is the plural form of Volcano?

a) Volcanos  b) Volcano c) Volcanoes d) Volcanois
44. What is the feminine gender of hen?

a)drake b)buck c)gander d) rooster
45. Identify the adverb in the following sentence.

‘She regularly goes to school’

a)to b)she c)goes d) regularly
46. What is the local value of 3 of 7328?

a)3 b)300 ¢)3000 d)30
47. If the price of ten pens is 65 rupees, what is the price of one pen?

a)6 b)6.5 «¢)7 d)8rupees
48. 36 meters = how many meters?

a) 360 b)3600 ¢)36 d)36000
49. Which is not a factor of 487

a)6 b) 8 c)7 d) 16
50. Which number is even or prime?

a) 4 b)2 «¢)6 d)10
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MENTAL ABILITY TEST (MAT)
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62.

63.

If 2 pairs of bananas cost Rs. 20, what is the cost of 3 bananas?

a)10 b)15 «¢)5 d) 6 Rupees

?Ix7=217

a) 1519 b)30 c¢)224 d)31

You are asked to write the largest three-digit number, you write the smallest
for-digit number. How much or little did you write?
a) 1 more b)lless c¢c)9more d)9less
What will be at the question mark? 2, 3,5, 7, ?, 13
a)4 b)9 «¢)10 d)11

How many triangles are seen in the picture?Al
a)2 b)3 ¢)4 d)5

What will beat the question mark? 10, 12, 15, ?, 24
a) 18 b)19 ¢)20 d)21

How will the picture (h) look like in mirror?

a) ﬂ b)_}-I c)k d) None of them

What is the number of planes of a dice of Ludo?
a)4 b)5 «¢)6 d)8
Three bicycles hastotal _ no of wheels.

a)6 b)9 «¢)3 d)12

What is the unit measuring volume?

a) gram b) metre c)litre d) centimetre
Which one of the different

a) Hill  b)river c)sea d)park
What do you call your mother’s father’s brother?

a) Maternal uncle  b) grandfather  c) brother d) uncle

8 |15|20| What will be in the empty box?
6 |10|10| a)4 b)10 «¢)5 d)9
2|5]|?
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64. What is the number of days in a leap year?
a)366 b)365 ¢)364 d)368

65.0+21=? a)21 b)0 ¢)210 d) 201

66. 108 months=?year a)2 b)4 <¢)9 10) 8

67. What is the shape called?

a) Triangle b)square c)rectangle d)rhombus
68. The three sides of a triangle are 7 cm, 7 cm, and 5 cm respectively. A
triangle is called?
a) right-angle triangle b) equilateral triangle c) isosceles triangle
d) scalene triangle
69.5/5+?=2 a)0 b)2 «¢)1 d)2/5
70. What is the perimeter of a rectangular object whose length and breadth 12
meter and 8 meters respectively?
a) 20 meters  b) 96 meters  c) 96 square meters d) 40 meters
71. 1 kg potato costs 30 rupees. What will be the cost of 2.5 kg potato in
rupees?
a) 60 b) 45 c) 70 d) 75
72.5/9,1/2, 3/5, 5/14, the largest fraction among the following is —
a)5/9 b) 1/2 c) 3/5 d) 5/14
73. What is the largest prime number of two digits?
a) 83 b)97 ¢)99 d)89
74. How can we measure the weight of a book? Using
a) Measuring tape b) scale c) weight d) all of them
75. 18 x =0
a)18 b)0 «¢)1 d)1/18

76. An example of a proper fraction is

a)5/4 b) 1% c)4/7 d) none of them

77. What fraction of the given picture is not shaded?
a)1/3 b) 2/3 c) % d) 2/4
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78. You have already written 40 minutes. How many more minutes ill you write
To make it a total of 2 hours writing?
a) 20 min b) 60 min c) 80 min d) 120 min
79. What is the difference between the largest and smallest possible four-digit
numbers formed by the numbers 4,9, 0, 7?
a)9261 b)5643 ¢)6561 d)5661
80. What is the common multiple of 5 and 6
a)20 b)30 c)25 d)2
81. make meaningful words by arranging the letter CAVATION
a) AVIATION  b) INVITATION c) VACATION d) VACCATION
82. How many weeks are there in a year?
a)50 b)60 <c¢)52 d)72
83. You are standing facing east. You turned right, now which side are you
facing?
a) East b) West c) North d) South

84. 'g B what picture will be created if you join the following pictures?

85. Which one is different?

a)PR  b)AD c¢)LO d)EH
86. Which of the following pictures shows the relationship between vegetable,
potato and brinjal?

JONLIORGRIC)

87. What does the word DISC look like in mirror?
a)CSID b)D2ID ¢ D2ld d)DISC

88. If you write 1 to 20 how many 1 will appear?
a)l10 b)11 c¢)12 d)13
89. Which one is different?
a) Peas  b) cabbage c) mango d) bitter gourd
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90. Body temperature is measured by -
a) Thermometer b) Barometer c) ammeter d) None of them

91. In a row,, Raj sits eighth from left Romi and sits tenth from right. Five boys
are sitting between Raj and Roni. How many boys are sitting in that row?

a)12 b)20 «c)22 d) 23
92. Which one is different? a) 4556 b)2334 «¢)6778 d) 6678
93. if the sum of two numbers is 17, which statement is correct?

a) one is odd number other is even number

b) both are even numbers c) both are odd numbers  d) all are correct
94.1/3,1/6,1/12? a)1/2 b)1/4 c)1/16 d)1/24

95. Each picture represents a fraction. Which two pictures mean the same

fraction?
iy Ui, ’
TNV Vi) LRI )
lk - ‘/;7//;/ % 7/{77////// 7 Wé/i
1 2 3 4

a)1&3 b)2&3 c)1&4 d)3&4

96. What is the name of the country that won the T20 Cricket World Cup held in
2024?

a) Australia b) India c) Pakistan d) South Africa
97. Which of the following has not its own light?

a) Moon b) Star c¢) Sun d) All of them
98. Which gas is the most abundant in the air?

a) oxygen b) nitrogen c) hydrogen d) helium
99. What is the cause of the water pollution?
a) sewerage b) pesticides c)industrial waste material d) all of them

100. Find the odd man out
m"'—?-//.p

@

™ 6 <

A B C D

a)A b)B ¢)C d)D
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